TEY—7
(1) FReREaTS5I9VFA (G NL—TFA-B)

DR7Ta—) 1543-243-15%3
B s B ] Xt #E o o— R w_ A M R O
o 0— 0
1| 830 #ET vs  ER T~ O
2| 905 |z+uvrE# vs HEsE 2-0
0 — 1
. 3 —0
3 9:40 Pasion A VS T™H N—F 1
—— S 3 —0
4 | 1015 | WWHEE vs  BA =y O
5 10:50 =R VS J#LYUrRith 1 : g 0
1—0
6| 11:25 EF Vs EHEXEsE o —o O | wkoEm
- 3 - 0 24, s,
7 12.00 | Pasion A VS L A i ™ 1 &+ A0
. 1 — 1
8 | 1235 TH vs B m B
Jrn = 2 — 0
9 | 1310 T vs EHXsE — 2
10| 1345 | #E  vs ZrLvrEm —— 4
' TN 4 — 0
. asion /A
11 14:20 P A VS BR; M 0
- 2 — 0
12| 1455 TH vs |LEE — O
Q@xtE K
FJIL—TA &7 EF |oruurEt| EEXrRE || MR | B8 | X8R |[BXkR| JBA
1 &N AR 0o A 02 O o2 A 2 5 4 2 2 2
2] BB |0 A 0 0 @ 4|1 O o0 4 1 4 -3 3
3lznvrE|l0 @ 2[4 O 0 2 O 1| =+ 6 3 3 1
Al EEFRE |2 A 20 @ 1|1 @ 2 1 3 5 -2 4
45 )L—TB |Pasion A| TH \WEE BAA fm | BE | k5 |[B%ks]| JBAL
1| Pasion A 3 O 1|14 O 1 O 0 9 12 2 10 1
2 TR |1 @ 3 4 O 0 O 2f 6 8 5 3 2
3| WHZE |1 @ 4|0 @ 4 O o0 3 4 8 -4 3
4] BAA |0 @ 5|2 @ 3|0 @ 3 0 2 11 -9 4




TEY—7
(2) Feay59FB (JIL—FC-D)

DR7Ta—) 1543-243-15%3
Bl 4 Rr ] xf B o — K a8 mOR O
1| 830 | FigH vs EF (3) _ g 0
. . 0 — 2
2| 905 sm Vs B =
N 1 — 1
3| 940 AfE Vs UFYSUT =
4| 1015 |PasionB Vs wLyihzs ——— 3
\Y2 — 2 - 1
51 10:50 FigH  vs =N - 1
. 0 — 2
6 | 11:25 I¥F vs  BE 0o — O | miE.EMm
0 - 0 4 Y7
7 12:00 H & VS Pasion B - 1 | &5
8 | 1235 |UAJSUT vs tLvrhzh 1 — g 0
v . 0—0
0 13:10 Ffe3t VS el - 1
—_ 0 — 2
10| 13:45 IF VS =Th S 4
11| 1420 | HEfE  vs wLvomzs ——— 2
S e 2 — 0
12| 1455 |UA4YZ>F VS Pasion B - 1
Q@xtE K
JI)IL—7JC FixF EF =15t B e | BR | kE |[#JXxa| B
1| Fhgd 3 O 03 O 110 @ 1 6 6 2 4 2
2] EF |0 @ 3 0 @ 4|0 @ 8 0 0 15 -15 4
3] & |1 @ 3|4 O o 1 @ 4| 3 6 7 -1 3
4 #Bm |1 O o8 O ol4 O 1 9 13 1 12 1
JIL—7D FHiE |UAUS2T|Pasion BltLvvwzel e | #R | &8 |Ska| B
1 HiE 1 A 12 O 114 O 2 7 7 4 3 1
2luAsso51 A 1 2 O 1]2 O of 7 5 2 3 2
3|PasionB|1 @ 2|1 @ 2 1 @ 3 0 3 7 ! 4
4levvrmzalo @ 4|0 @ 2|3 O 1 3 5 7 -2 3




TE)—7

(3) AIEE=/INER (JIL—TE'F)

DR a1—IL 15932431543
B AR IRE (] Xt #e o — K ®_E MR O
1 —
1| 830 EfIE vs EUFal— =
- L o — N
2 | 905 |[ET—L#&R vs K% = B
— A T 0 — 4
3| 940 AlA & = F - 5
i — e
4 | 10:15 R vs BHIER — 2
. e 0 — 1
5| 1050 | HfEE vs ET-L#ER = B
N 0 — 3
6| 11:25 |[E>vFa)— vs  KRE —— 6| gre.xm
7 | 12:00 E vs MR g _ 3 5 | #EAA
0 — 0
8 | 1235 EH Vs LHEP —>
0 — 2
0 13:10 HEfE VS INEE - 4
.o 0 — 5
10| 1345 |E>Faly— vs ET—LEBR o O
. 2 — 1
11| 1420 A& Vs RAE — |
P 0—0
12| 1455 =% vs ¥R - 0
Q@xtE K
HSI—TE | EfE |trFay—|Ed—-LEBR| KE e | BR | kE |[#JXxa| B
1| Hf=E 3 O 110 @ 1|1 @ 4 3 4 6 -2 3
2|tvFa—|1 @ 3 0 @ 5|1 @ 6f o0 2 14 -12 4
3led—LR|1 O o|l5 O 0 2 A 2 7 8 2 6 2
4] R&E |4 O 116 O 1|2 A 2 7 12 4 8 1
SIL—TF e Lo iz BAHEIR| BR | R | X8 |HBX=R| JEL
1 =y 0 @ 5|0 @ 3|4 O 3 4 9 -5 4
2] EF |5 O o0 o A o1 O 7 6 0 6 1
3] R |3 O o0|lo A 0 1 @ 4 4 2 2 2
4| TEHIEAS ® 40 @ 1|2 O 1 3 3 6 -3 3




PBER—F A b

&8 . B SNER A B R Y of: HIE
=W L EBE
|
4 0
2
1 | 0
0 1 w 0 Z l?f 0
6 8
PRK PlK
1 0 0 20 o 0 0 43 0 0 4
1 ‘ @ \ ‘ ©) | 4
VR-167  ofir—2fr  Uf-4fs Uf-efr  If-5fr UR-3fr of-1fr {2
e VAT Irs ER vaavrEm HE N Ea—LfEA Pasion A
| I | | | | I |
5 @
0 1 @ 0 1
0 0
@
1 0
A 2— ) 151K
BH A R Xt 1 — R A B R R =N
M| 1000 | #wE vs uATILF - 0
Sz . . 0 — 0
@ 10:20 =% vs THLUrE
2 PK 0
- 82 iy 0 - 0
@)| 1040 | FEfE vs A%
4 PK 3
. , 0 — 4
@ 11:00 [EJd—L#R VvsS Pasion A o
@ 11:20 gud”j‘ﬁ‘/v‘f VS 71»‘%55&2 0 o 1
PK
. @ N ==t k4 @ 0 - 1
®| 1140 | BE ve EFH g = B )
@D| 1200 | A& vs esowa @0 T 1] #¥ER
PK
) 0 e 0
12:20 % R{E Vs PasmnA% i ” :
@] 1240 | urroer vs  Agx Yl 0
PK
13:00 %7#/1&755& VS I:“:i‘—I/E%E% 1 o 0
PK
@ 13:20 g B VS PasionA 1 o 0
PK
@ 13:40 % =8 vs FHiE 4 o 0
PK




2P —F A b
&3 . RS =/VER B

203 :

=

LYz E

=

3 :

1ENFT

0 3 P 0 © 0 1
6 8
2 0 1 0 0 g|1< 1 0
1 ‘ © \ ‘ 3 r@—‘
205301 Ry AV 205631 INL-241 -1 20547 =347 20 —44r
FREH: EX VA FAJR 1) (473 \ET wevedzs FH
| | | | | | | |
D @
0 1 ©) 1 0
0 I 3
1 | 1
AV a—)b 151K
B G T W B — F R A m R % 1
@| 1000 | FResE  vs  Emhow |2 - 0
- 1 — 0
@)| 1020 | #E vs E&m
PK
Al 2kn = O - 0
@)| 1040 =R Vs fHFR
0 e
1 — 0
@| 1100 |tLvrsze vs  TH -
®)| 1120 |§ HEfaE vs @H 2 o .1
PK
®| 1140 |© Fhesr vs aam 2l 0 )
AU Mx G o 47T ETE A
1 — so .
@| 1200 & & vs TFTE 0 |
PK
0= 0 — 1
1220 |2 fFT Vs ewmzs g -
@] 1240 |© EfgE vs FE Q3
PK
- 1 — 1
1300 |2 &HW vs EE 2 -
@] 1320 | Fre3x vs AR 1l =2
PK
@] 1340 |9 #E vs woeeas 82 ]
PK




SALR—F A b

S8  WMAEZINER 3 2 A
E%b’ﬁ 3G WA
P K
0 4l 3 0
2
0 | 92
0 ARl 0 w 2 0
6 8
P K
6 0 2 0 0 3 1 ol 1

1 ‘
3P -5 AT -6 AT -2 AT -AfT ART-34T AT -147 AR50 A6
AT FF HE, BHYE Pasion B e krFaU— JUHIE

| | — L | I

K
]
_|

> @
1 '; '1< 1 @ 0 1
10
ARIFY a— ) 155301
BRI ] WOB 7 — F A ]
)| 1000 | BHFHL vs  EF ¢ - 0
. NN 2 - 0
@)| 1020 | EEyE vs B -
. i NTTAY 0 — 3
@ 10:40 | Pasion B Vs Ala ”
@] 1100 |[#rFau— vs LEE (‘) ; :
®| 1120 |2 EF vs BAE 2 (‘) - :
D 4~ @ O — 0
®)| 1140 [} BAHIEH vs HESR S SRR
@| 1200 |2 PasionB vs tray— 9.0 - 1| A
1220 |2 A& vs WA -
@ 12:40 g EF VS PasionB g ;
13:00 % BEA Vs tp%llJ—% ;
@ 13:20 gﬁé’%(i‘b vs LM 0 ; 2
| 1340 | EEsE vs A& 2 = (3’




